SplashLearn

Word Problems (B)

Solve the problems to find the answer. (Show your work.)
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Emma has a straw which is 20 cm long. Harry has a straw whichis 5 cm
shorter than Emma’s straw. How long is Harry’s straw?

20-5=15
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Robert has a chocolate bar which is 11 cm long. Mia has a chocolate bar which
is 6 cm longer than Robert’s chocolate bar. How long is Mia’s chocolate bar?
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Adam has aribbon which is 25 cm long. Rihanna has a ribbon which is 7 cm
shorter than Adam’s ribbon. How long is Rihanna'’s ribbon?




